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@-b® | ad-b} (@+b) a®+b3 a® —3a2b + 3ab? — b3 = 2 1|
3 Pt Fs s ettt Pon P bl 2
| ) An irrational number that contains radical
Natural number | Rational number | Surd Mixed surd sign is called:
| ), D A
(x=2)(x% = 2x +4)| (x =2)(x? +2x +4)| (x+2)(x% = 2x +4)] (x + 2)(x2 + 2 + 4) RUARETINE
Factorization of x3u 8)is:
2 1 3 0 e tyion (J;,,-‘:fd»..{ 4
A linear polynomial is of degree:
). Ve 2 x—1 s 2x2 :
S et ’ - e S UK 2x% - x —1 1 2x2+3x+1| 5
HEFof 2x% +3x +1, 2x2 —x -1 is:
2 i x-1 | =4
5 3 -5, 3} {5, -3} 5y -3 e f¥ | 6
- The solution set of [ X ~1|=4 is:
N.15 3 “‘ I 9 — 2 =n |
m<n m>n mzn m<n (fquk'JJL_n» m sy m f T
If m~2 =n  then relation between m and
nis:
q-ui‘U’Jf (0} . . (-1 :q_.u‘m)"fx2+2x+l=0 8
Does' not exist The solution set of x2 +2x +1=0 is:
Jré )’LL/’U’[;&V&»» 9
2 ! 3 4 The number of techniques to solve a
quadratic equation is:
5, 7 Jisd Jis et AdAt=-AJ| 10
Square matrix Transpose Skew symmetric Symmetric If A' = -A,then A is called:
AB)' =2 L di| 1
A BIAL B! Al . : AB) =7 Ly :
In matrices (AB)' =?
iy .::Uf ~tinsk Yy Iq.t'l.‘g";i ( < 180°. ﬁ/l‘Jc_.g()"JIﬁ’J{_))':’!U 12
An angle more than 90° and less than 180°
Right angle Reflex angle Acute angle Obtuse angle {5 called:
3 i 5 i :‘;_Jmlﬁ(f...awtﬁug,uu:wdf 13
The number of angles bisectors in a triangle
is:
w0 KA
o 2 3¢ A ¥ ulfyu) Z 5/-/'{ 14
Volume of a cube with edge '¢' is:
1 » | ¢ = e nad el wintdiés| 15
| Zero i' Negative Positive | A point in 4th quadrant has its ordinate:
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( Part-1

Write short answers to any SIX parts.

If P(y) =3y* + 2 +9 , then find P(0) .

Simplify: '-—“———I L S—
) % -36m®x% 4 27m?x®

Simplify: 450 + /200 ++/50
Factorize: Jax — 4bx + 6ay — 8by

Define linear polynomial with example.

Factorize: 125+2°

Find H.C.F. by factorization: ~ abxy , a’be

Find L.C.M. by factorization: lzquz i 8}32C|1'3 :

Find the square root of: 16x2

Write short answers to any SIX parts.

Define solution of linear equation.

Solve: 9x =3(2x-8)+3
Solve: J2x~1=5
Solve: |4+3x]|=9
Solve: (x- 3)2 =4

Write in the form of quadsatic equation: (x+3)(x-D-12=0

Define diagonakmattixs Give an example.
i 3
2 8

-3 Fr=i
Find product: [3 ml}[-—l ﬂ

Find multiplicative inverse:

Write short answers to any SIX parts.

Define minor segment and draw its figure.

Write the equation for the given triangle and find x° :

Define congruent triangles.

Draw an equilateral triangle with length of each side 6em.

Define tangent line.

()

+24xy + 9y2

d_,‘ 4 )
S eyr L g e 8
80-6 /-2 g
4 b PO) () =32+ X491 (D)

18m°x 5‘-‘/‘? (i)

-36m%x +27m4 5
4J50 +4200 +4/50 g5 i)
U )
-E AL Tl @)
EATAND
abxy ,_a’bc “FpbFhua L (i)
P P PSS F sk (i)
FEP e ()
ezl g
Eaf§Srenad

3ax — 4bx + 6ay — 8by

2542

dp*q’r 12p’q” , 8pqr°

16~ + 24xy -+ 9y2

9x =3(2x-8)+3 éd" (ii)

Vax-1=5 g (i)

|[4+3x|=9 égd’ (iv)

x-32=4 Zf W

x+)x=-D=12=0 20 FilaitaGon  (vi)
_ &Ll Ly SIS (i)

]:; é] é{r}’”dﬁ’d/ (viii)
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a=4,b=3,c=7 i c AW b « 2 B Tl Nts (vi)
Find the third side of each right triangle with legs a and b and hypotenuse c. a=4,b=3,¢c=7?

-n'f'JuJé‘}Lfg{r}v};(wf,fﬂl;fsui"u:u,u._g (vii)

F"'ind the hypotenuse of right isosceles triangle each of whose legsis '¢'.
Define collinear points. -E @ SEBA (il

Find the distance between points: (=2, =1), (-1, 3) -2, =D, (-1,3) iggr:h’kﬁu,l.fnﬁbﬁ; (ix)

-t 08 Ly gy feliiletivfe §f g 4aa

Part - II, Attempt any THREE questions. Each question carries 08 marks.

e A L s MG W 50 S ()
r 9,8 X

' 1 1
If X=\/§+2, then find the values of X‘*"x“' and x? "‘F.

Resolve into factors: x2 + 6ax +9a2 — 1 6b> x%4 6ax £9a2 —16b> e tld Az (L)

Solve: \[)7—6“*)’20 Jy -6+y=0 :‘j_J:J(J’)
B ‘b’ a’+ab+b? a’-b’  a’+ab+b? Z ()

Simplify: 2 + + 2L i
A g a? + b? a!-b* a’ +b? 2

Solve by completing square method: X’.3'= 6% x*-3=6x &£ fe 3L Ci/J'-'.;” ()

Given that A=B "31,:| verify that AZ—4A+51=0 fé@:b‘?ﬁA =[12 *31’] A &)

Solve using matrix inversion method: 33X~y =10, 2x+3y=3 "éwc-.‘il;,)ﬁu.,)ﬁlf}‘" ()
—UnfTA st 3 IS sl L b BTG (L)

Construct a rectarigle whose adjacent sides are 3cm and 4cm.

ﬂ_é(:l’”f KUl 257896 ,.}‘Jdb’ VA @)

Find theyelumeof a cube whose total area is 9om?.

Sl S1ndobifice B(6, 8) 1 A2, 4) bon P(x, y) 51 (o)
Express by an equation, the fact that the point P(x , y) is equidistance from A(2, 4) and B(6 , 8).
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